
Read this passage about three buses. 
Complete the timetable. 
 
Bus A leaves the bus station at quarter past eight.  It gets to the zoo at 
twenty five past eight.  Then it goes to the park.  It gets there at 
quarter to nine.  It gets to London Road at five to nine. 
 
  

The bus 
station 

 
The zoo 

 
The park 

 
London 
Road 

Bus A 8.15 
 

 
 
 

  

Bus B 8.30    
 
 

Bus C 8.45    
 

 
 
Answer these questions. 
 
When does Bus B get to the park? 
 
It gets to                                                                                                  .
 
When does Bus C get to the zoo? 
 
                                                                                                                 . 
 
When does Bus A get to London Road? 
 
                                                                                                                . 
 
When does Bus B get to London Road? 
 
                                                                                                                . 
 
When does Bus C get to the park? 
 
                                                                                                               . 
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